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I. Vertical Addition -2 digit with 2 digit (double digit with 

 

 double digit).   
 

When adding 2 – digit with 2 digit always add the digit in the ones 
place first. 
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To a T To add on the number line, we jump forward. 
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St Star Start from 6, take 1 jump forward, you will reach 7. 

 
P Pppp PROPERTIES OF ADDITION: 

 

p 

 

1. When you add 0 (zero) to a number, the answer is the same 

   numbers.  
Examples: 

   5 + 0 = 5           3 + 0 = 3 

2.  When we add 1 to a number, the answer is the number that 

    comes after it. 

                                                                 

2 FLOWERS         +      1 FLOWER        =          3 FLOWERS     

3.  When two numbers are added in any order. The answer     

remains the same. 

 Examples:   2 + 3 = 5 

                     3 + 2 = 5 

2 + 3 = 5 

 


